TR 2 1 R RFRR AR (2R

(GRE4  WEER )
R—=U% | & IH H i & ok B ok F IR

80 2 1 1 1 3 | FREFREOEFIIHONT (HEERHERARR)

EEEMEEER A REE (FR21FE) (B BEHY)
48 |58 16A |78 |88 [9A |10A|11A[12B| 18 |28 |38 | &5t
EE 1 1
ZE& 1 1
SEE 1 2 2 2 7
E1EtE 1 2 3
x| RERHE 1 1 1 3
5 |EMIRERE
E|BEITE 1 1 2
B |555E
% |BR
Rt
Fa M 3 1 4
ZDih 1 1 1 1 4
INET 2 3 5 2 1 3 4 2 3 25
X 1 2 1 2 1 1 1 1 10
= ESiZINIES
g |5E 8
B |Farkse 1 1 2
) E3OYT 1 3 1 5
B INET 1 2 2 1 2 1 5 1 2 17
= - TBEHK 1 1 2
= |EREK 1 1
;'% B5E
g D 1 1 2 2 1 2 1 10
INET 1 1 1 1 2 2 1 2 2 13
B IS 3 1 1 2 2 1 1 1 1 3 2 18
. |BmusoxzBER 1 1
g DV
B Bt 3 6 4 2 3 5 3 1 5 3 3 38
= BF 1 2 3
Z D1 2 2 4
INET 7 7 7 4 2 4 7 3 4 6 6 7 64
8k
z BIEEWEE
o {REEEE R 1 1 2
it S EBE % 1 1 1 1 2 6
D 4 3 1 3 4 1 4 4 3 27
INET 5 3 1 3 5 2 2 7 4 3 35
a5t 14 15| 14| 13| 12| 11| 14| 14] 14| 14 6| 13] 154
HS5E 1 1 2
HEE
FIEEH
WaE 15] 15| 14| 13| 12| 11| 14| 15] 14| 14 6| 13] 156




